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324 : FB5204* Ex d e q [ia] IIC

Ex q : container , Ex d: Interconnection(pin and sockets)
- 400C = |Tamb =/6Q7C, - 40°C < Tserves < 85.4°C
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Power supply: Backplane connector Pin 6(+), Pin5(-)
Nominal voltage(Un) : 12 VDC(-2/+4%), SELV/PELV
Rated voltage(Ur) : 12.48 VDC

Maximum c¢ommon mode voltage(Um) @ 60 VDC

Power supply: Backplane connector Pin 4(+), Pin5(-)
Nominal voltage(Un) : 5.4 VDC(-5/+5%), SELV/PELV
Rated voltage(Ur) : 5.6 VDC

Maximum common mode voltage(Um) : 60 VDC

Bus signal/| Communication signal: Backplane connector Pin 2, Pin 3

Nominal voltage(Un) : £2.5 V signal with reference level 2.5 VDC (Manchester=Signal)
Rated voltage(Ur) ! 12.48 VDC(SELV/PELV, same GND reference as power supply)
Maximum common mode voltage(Um) : 60 VDC
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Temperature measuring input(RTD), multi(4) channel

(Linear; 2 inputs):

chl: 1,2/314, ch2: '816,7.8 ch3il8,10,11112/Ichd: 13,14,15/16

Uo= 7.14|V, TIo= 70/ m#l'"Po="123 mW)||/Ci= 52 nF, LiF||0, Co= 13|4| pF, Lo=|f mH, "Lo/Ro= 0.285

4, AAF LSS f® =74

. a =& 28 B2,

2, KCs ¢FAe1=2 ue Backplanes(FB BP), Power supply(FB PS), Gateway(FB GW), Bus-termination(FB BT)%}
gl A

3, Aol Ak Um = 60V, A =AY (SELV) =+ H A% (PELV) &7 AHE FF3c A 38 &7 & Ahs.

4l FHe dA"E BE circuits®E EN 60664-10] B2 .
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